NSSNAL PO ﬁﬁ

v
vV
LiJ
()
O
<<
&
<

~
S
N
S
=
=
=
3
L
2
2




7
—
<L
(= <
(=
=
<L
- -
(e
-
—




Part Number:

MT-AC-ST-TR-48-30

Issue Date: 08/29/2017

Wide Stair Tread (LED Not Included) e

Part Number: MT-AC-ST-TR-48-30

Standard Material:  5052-H32 Aluminum
Standard Finish: 02 - No Finish

Available Finish(es): N/A
Size:  5.79"x 48" x 11.81" (146.95mm x 1219.20mm x 299.87mm)
Weight:  20.35Ibs (9.23kg)
Hole Size:  11/16” (17.46mm)

Recommended Hardware: 5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 50mm Long, Class 10.9 Bolt | M18, Class 10.9 Washer | M18x 2 Thread, Class 10.9 Nut)

Recommended Tools:  ModTruss™ Tool Kit 1
Associated Products: MT-AC-ST-ST-24-30 | MT-PA-06-06-02-90
See more at:  ModTruss.com

‘ ModTruss..c

& D O 0O

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending



U.S. Patent No. 8,418,425 & other patents pending

omlmvlm 1—vl.lF wl.u<l.1_~-2 SHIAWOM LEYd
Av3dL dIVIS
NOUSED530
wmosuas [ /102/1€/1L
SRR uz_nm:._._._uos_m
[ozslz]
00’8y
. [oswoe] [08'v0€] 08'v0€] lovoe] |
* 00zl 00zl 002l ooel
] 31y % F %
o000€ S6971]
6L'S
_ _ }
NNy i [0z9£] | L [osg]
[18°662] 00'¢ o5l
181t
5 o o} O
o @]
s] [S] ©
oz9s \o
00'¢ v/l _J
69°D
(=4
o
(-]
5
[-
T8
= S
O g
s2f E
= = o
L I NSSNALPOIA |
T2 E B .




Part Number:

MT-AC-ST-ST-24-30

Issue Date: 08/29/2017

24" Stair Stringer at 30° e

Part Number: MT-AC-ST-ST-24-30

Standard Material: A36 Low Carbon Steel
Standard Finish: 10 - Zinc Clear
Available Finish(es): 10-12, 20-32
Size: 6”x23.2"x39.82" (152.40mm x 589.28mm x 1011.43mm)
Weight:  32.05Ibs (14.54kg)
Hole Size:  11/16” (17.46mm)

Recommended Hardware:  5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 50mm Long, Class 10.9 Bolt | M18, Class 10.9 Washer | M18x 2 Thread, Class 10.9 Nut)

Recommended Tools:  ModTruss™ Tool Kit 1
Associated Products:  MT-AC-ST-TR-48-30
See more at:  ModTruss.com

WT ModTruss..

& 0

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable (c:m;ﬁwb e Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending



0€-¥C-1S-1S-OV-IW
JFONIALS dIVIS ©3d0¢

AN NOISIAZY 7 VA —ON\?N\@
“SSNALPO |
WLy | - Lo

4IAWON 14V

[0Z 685 ]
0T'ee

[169511]
ey

U.S. Patent No. 8,418,425 & other patents pending

SNSSNULPOIA B

S
?
<
iy
[
s
[
e
)
R
—
=

~
=
S
N
qN
N
S
g
Q
g
v
4]

Part Number:
Series: Access




Part Number:

MT-AC-MP-06-048-048

Issue Date: 08/29/2017

ModPanel 48" x 48" with 1” Plywood (HD) e

Part Number: MT-AC-MP-06-048-048

Rated for 175 PSF

Standard Material:  H32-5052 Aluminum and 1" Plywood
Standard Finish: 01 - Bush Finish and 95 - Enamel Satin Black

Available Finish(es):  H32-5052 Aluminum: 20-32
Size: 48" x 48" x 5" (1219.20mm x 1219.20mm x 127.00mm)
Weight:  67.40lbs (30.57kg) | Weight variance of +/- 2.5Ibs
Hole Size:  11/16" (17.46mm)

Recommended Hardware: 5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 50mm Long, Class 10.9 Bolt | M18, Class 10.9 Washer | M18 x 2 Thread, Class 10.9 Nut)

WT ModTruss..

Recommended Tools:  ModTruss™ Tool Kit 1
Associated Products: MT-AC-HR-DP-48-41 | MT-AC-HR-DP-SM

See more at:  ModTruss.com

WD
ice)
RDE,

Flammability Made To Order Customizable Reusable

U.S. Patent No. 8,418,425 & other patents pending



870-870-90-dW-OV-IW

HFINON L3V

/ .’ 0 O O O O ®© ® O O O O O nan\
W87 X.,.87 T1ANVJ AOW ‘o s
NOILDSIa
AN NOISIAZY 7 £102/52/8 ° °
o [e]
i
VN NI 38V SNOISNIWIC [] 1390vaig | ™ “ﬂ:hhﬁuﬂr}__ IB o R
[65°1] 90°F - QIW : 13AT1NOISIDIAd
o [e]
881"~ _ o o
—— = HIAIM ANV HIONIT TIVIIAO JO4 IDNVIII0L
000+ o o
TV13d dINJOD JAISNI ° °
Qo [e]
o o
Q [¢]
o o
Q [¢]
¥IHSYM VS /1 ° o
INN-¥D01 NOTAN 0Z-#/1 [ffe o o o 0 0 e 8 0 0 o 0 o ey
ozslel]
M3HOS QVAH LV 8L-9L/S 00’8y
LAN-XD01 NOTAN 0Z-.7/1L
LAN-YDO1NOTAN 81-91/S 0
(o) o O o o) Q o) Q o) Q o) Q o) Q o) Qe
SIHSVM 3VS.91/5 HIHSYM IVS /L ' ONONONONONONONE:

ADVg n_m_E_N_n_\\
QOOMATd XAD .l

]

ozslel]
008y |° .

U.S. Patent No. 8,418,425 & other patents pending

SNSSNULPOIA B

0
=}
<
0
<
<
O
<
o.
=
L)
<
—
=

Issue Date: 08/29/2017

Series: Access

S
S
=
S
=
5
a




ModPanel 48" x 96" with 1” Plywood (HD)

Part Number: MT-AC-MP-06-048-096

Rated for 175 PSF

Standard Material:
Standard Finish:

Available Finish(es):

Size:
Weight:
Hole Size:

Recommended Hardware:

Recommended Tools:
Associated Products:

See more at:

H32-5052 Aluminum and 1" Plywood
01- Brush and 95 - Enamel Satin Black

H32-5052 Aluminum 20-32
96" x 48" x 5” (2438.4mm x 1219.2mm x 127.00mm)
154.201bs (69.94kg) | Weight variance of +/- 5lbs

11716 (17.46mm)

5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 50mm Long, Class 10.9 Bolt | M18, Class 10.9 Washer | M18 x 2 Thread, Class 10.9 Nut)

ModTruss™ Tool Kit 1
MT-AC-HR-DP-48-41 | MT-AC-HR-DP-SM

ModTruss.com

WD
ice)
RDE,

Flammability Made To Order Customizable Reusable

U.S. Patent No. 8,418,425 & other patents pending

Series: Access

T ModTruss.

i

4



960-870-90-dW-OV-IW

43BWNN 13Vd

W96 X.,87 TANVd AOW

INOILI¥OSIQ

AN INOISIAZY 7 £102/52/8

il
e s oo | < 'SSNALPO

[65°1] 90°F - GIW : TIAFT NOISIDINd ... -u
o °
V13A ¥INJOD 3AISNI ° °
s s s s s
- °
° s
s s s s s
llllllll o o
o .
o .
JIHSYM 3VS /1 ° . . . . —°
LAN-¥O0TNOTAN 0Z-#/L ° °
° o
s s s s s
° °
° °
s .

2N
e S e e
erﬁtﬂfltﬂm "% 0 0 0 0 0 ® 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 ® 0 0 0 o o e
M3IYOS AVIH LV 8L-91/S
LINN-YD0OTNOTAN 81-.91/S LNN-YDO1 NOTAN 02/ 1
SIHSYM 3VS.91/C IHSYM VS /1
lozélet] [or'seve]
i 008y 0096

Al slaliTalaliiala alalalalialalaliclalalalaliclalals:

i
AOV18 AIWIdd
QOOMATd XAD L

® ® ® ® ®
® ®
° ® ® ° ® ®
° ® ® ° ® ®
® ®
° ®
® ® ® ® ® ®
® ° ® ° ° ®
® ®
® ® e ® ®

U.S. Patent No. 8,418,425 & other patents pending

>'sSNULPO £

O
(=2
<
(]
g
<
=4
<
o.
=
]
<
=
=

Issue Date: 08/29/2017

Series: Access

8
2
B

S
=
5
a




Part Number:

MT-AC-HR-DP-48-41-AS
Issue Date: 08/29/2017

Series: Access

Decorative Handrail Complete Set

Part Number: MT-AC-HR-DP-48-41-AS

Standard Material:  A36 Low Carbon Steel and Polycarbonate Insert
Standard Finish: 01 - Brush Finish
Available Finish(es): 20-32
Size:  0.31"x 41" x 47" (7.87mm x 1041.4mm x 1193.8mm)
Weight:  55.85Ibs (25.33kg)
Hole Size:  1/2" (12.7mm)
Recommended Hardware: 4x-5/16"-18 Thread Bolt, 1" Long | 8x-5/16" Washer | 4x-5/16"-18 Nylock Nut
Recommended Tools:  ModTruss™ Tool Kit 1
Associated Products:  MT-AC-HR-DP-48-41 | MT-AC-HR-DP-SM | MT-AC-HR-SM-26

See more at:  ModTruss.com

a ModTruss..c

SO
e}
/?D?‘/Q‘

Flammability Made To Order Customizable Reusable Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending



SV-1v-87-dd-dH-OV-IW
AlQuIassy
I0JPUBH SADI0D8Q 87 X, LY

“NOWLdI¥Os3Ia

-HIAWON 13V

annosnas | /102/52/8 (002) | {0072y ) |
i
wigegeshseg |~ SoNALPOW ,E — |
) (CH.
o (00'1¥)
[ O @
1 4
L1 3VvOS
L:13TvOS aviaa

97vi3ad 1104 X3H

JIHSYM

Ivs.oL/s JIHSYM

Ivs.9L/s

U.S. Patent No. 8,418,425 & other patents pending

NSSNALPOA @

~
=
N
Y
N
™
S
b
3
2
=
2

Series: Access

Part Number:




Part Number:

MT-AC-HR-DP-48-41

Issue Date: 08/29/2017

Decorative Handrail Steel (No Insert) s s

Part Number: MT-AC-HR-DP-48-41

Standard Material:  A36 Low Carbon Steel
Standard Finish: 25 - Silver
Available Finish(es): 20-32
Size: 41" x47"x0.31” (1041.4mm x 1193.8mm x 7.87mm)
Weight:  41.35lbs (18.76kg)* *Not Certified
Hole Size:  1/2" (12.7mm)
Recommended Hardware: N/A

WT ModTruss..

Recommended Tools: N/A
Associated Products: MT-MP-06-48-48 | MT-MP-06-48-96 | MT-HR-DP-VSM

See more at:  ModTruss.com

Made To Order Reusable Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending



Part Number:

~
=
N
Y
N
™
S
b
3
2
=
2

Series: Access

L¥7-8¥-dd-dH-DV-IW

-ELIAINEELZ]

owInI4
IDIPUDH 8AIIDI0D8Q ,8F X . 1¥

‘NOILJI¥OS3a

a ”zo_w_>mi £102/91/8

WW NI 33V SNOISNIWIQ [ ] 13508
[65°1] 90°F - GIW : TIATTNOISIOIA

SSNALPOWN

NYHL ww.m;m@.sk

- (086l L] |
i 00° L 7
4
[02°594] | 08°241]
00'8¢ 7 00/
U =
(o7 eS|
0012 | [0s7€9]
0ST
[85°9¢5]
el'le
[ov 1701 ] NYHL [0£2L]0S @
00° L H@.ﬁ .

SSNULPOA I

U.S. Patent No. 8,418,425 & other patents pending



Part Number:

MT-AC-DP-POLY-48-41

Issue Date: 08/29/2017

1/4" Thick Polycarbonate Insert (No Graphics) e

Part Number: MT-AC-DP-POLY-48-41

Standard Material: Polycarbonate
Standard Finish: 02 - No Finish
Available Finish(es): N/A
Size:  35.50” x 41.50" x 0.25” (901.70mm x 1054.10mm x 6.35mm)
Weight:  14.201bs (6.44kg)
Hole Size:  1/2" (12.70mm)
Recommended Hardware: N/A
Recommended Tools: ModTruss™ Tool Kit 1 | 9/16” Combination Wrench and Socket
Associated Products:  MT-AC-HR-DP-48-41
See more at:  ModTruss.com

‘ ModTruss..c

W0e
sTOCK PION
/fD‘é,‘*

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending



_..Vlw.v|>l_0lllolo<ln_|§ “4IGWNON L3Vd
L1I3SNI FIVNOGIVOATOJ
[-8¥-1S-dH-OV-IW
o] £102/91/8

W NI 33V SNOISNIWIQ [ 1330V g Iv-. ““::EOE

(65" 1] 90F - GIW : TIAITNOISIDIA

“NOILdI¥Os3a

[se9l [or'vso1]
s¢ 4 * 05" Ly
[56'£01]
STy
@ &
B [02'596] |
r 00'8€ L

[85°9¢€S]
el

[0£'10¢]
05°6¢

[02Tl] K

05" @

U.S. Patent No. 8,418,425 & other patents pending

SNSSNULPOIA .

1
S
(=]
3
>
—
(=]
&
o.
Q
(&)
<
(8
=

Issue Date: 08/29/2017

Series: Access

L
L
=2
=
S
=
=
N




Part Number:

MT-AC-HR-SM-26

Issue Date: 08/29/2017

26" Handrail Side Mount e s

Part Number: MT-AC-HR-SM-26

Standard Material: A36 Low Carbon Steel
Standard Finish: 10 - Zinc Clear
Available Finish(es): 10-12, 20-32
Size:  2.56" x 19.81" x 0.13" (65.02mm x 503.17mm x 3.30mm)
Weight:  10.00Ibs (4.54kg)
Hole Size:  11/16” (17.46mm)

Recommended Hardware: 5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 50mm Long, Class 10.9 Bolt | M18, Class 10.9 Washer | M18x 2 Thread, Class 10.9 Nut)

Recommended Tools:  ModTruss™ Tool Kit 1
Associated Products:  MT-AC-HR-DP-48-41
See more at:  ModTruss.com

e @ o

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending

‘ ModTruss..c



Part Number:

O
o
=
b
o
T
)
<
=
=

~N
=
N
S
N
™
S
R
S
]
2
g

Series: Access

9CWS-JH-OV-IW

HIENON LY

[ovse]  _[60°59] _lsres]
.9C 'INNOW 3dIS TIVIANVH 00'l 95T s
e — h _.QN_____.T_‘__N 'NOILI¥ D530 V-
LIE uz_..ﬂ.hﬂ:..._._uo_zm - -
foree] ] O O
'l O O
O O
O O
[ov90¥]
O 0091 O
O \u
o [ral]_/ © [0£°2v9)
O 69°0 O 05’52
O O
C O
loczt]__|
05" ¢ Mu
[so'821]
S.M
[09-101]
00’y
LR |
lorsz] | K?.N;
00’ 05 @
1o
[¢£2S]
90T |
b [se9]
ST
SNSSNULPOIA D

U.S. Patent No. 8,418,425 & other patents pending



